% g @ M6 rong da thuc

Tén:_ Ngaythang:_ Piém:__
(6x — 2)(5x” + 2x — 6) + (3x — 2)(4x + 3) 2x— 1)(3x* —6x—2)— (5x— )(5x + 1)
(2% — 3x+ 6)(3x + 1)+ 4x + 3 (53> —x—3)(3x+ 1)—4 x 3x + 1
(2% + 3)(4x+ 1) =3 +x -3 (x+ 6)(x + 1)(4x— 3)
(5x+ 2)( + 6x+ 1) — (2x + 4)(2x — 2) x+(2-2X)(2x— 6)(x —2)
(4x + 6)(2x + 2)(x — 5) (Gx + 4)(2x% +2x— 6) + (x — 1)(5x + 4)
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Mo rong da thue

Tén:

(6x — 2)(5x% + 2x — 6) + (3x — 2)(4x + 3)
30x° + 14x> —39x+ 6

(22 = 3x+ 6)(3x + 1) + 4x + 3
6 — 7% + 19x+ 9

(2% +3)(4x+1) =37 +x—3
8x° — ¥ + 13x

(5x+ 2)(% + 6x+ 1) — (2x + 4)(2x — 2)
55 +28x + 13x + 10

(4x + 6)(2x + 2)(x — 5)
8x° — 20x% — 88x — 60

Ngay thang: Diém:

(2x— 1)(Bx% —6x—2)— (5x — D(3x + 1)
6x° — 40x> + 2x + 3

(52 —x=3)Bx+ 1)—4 x3x+ 1
1565 + 202 — 22x— 2

(x+ 6)(x+ 1)(4x— 3)
A + 25x% + 3x— 18

x+(2—2x)2x— 6)(x—2)
—4x° + 24x% — H3x + 24

(3x+ 4)(2x% + 2x — 6) + (x — 1)(5x + 4)
6 + 19x% — 11x— 28
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